Name:

Date:

Trig ldentities

2

7 8
10

13

20

15

21

22

23

24

25

26

Across
1. 1 -sin"2(x)=
2. 2sin(u)cos(u)=

7. cot"2(x) + 1= 27. cot(x)=

8. cos"2(x) - sin"2(x)= Down

11. sin(x)= 3. tan(-x)=

12. cos(u)cos(x) + sin(u)sin(v)= 4, cos(-x)=

17. sin(pi/2 -x)= 5. tan(pi/2 -x)=

19. sec(-x)= . _ 6. cos(x)=

21. cps(u)cos(x) - sin(u)sin(v)= 9. sec(x)=

22. sin(-x)= . 10. cot(-x)=

23. sin(u)cos(v) + cos(u)sin(v)=

Word Bank

sec”2(x) sin(u-v) Cos(x) sec(x) 1/sec(x)
Sin2(x) -tan(x) sin/cos cot(x) Cos2(x)
-sin(x) 1 1/sin(x) Cos2(x) tan2(x)
1/cos(x) cos(u-v) cos(x) sin(u+v) csc(x)

27

24. 1 + tan"2(x)=
25. sec(pi/2 -x)=
26. sin(u)cos(v) - cos(u)sin(v)=

13.
. tan(x)=
15.
16.

18.
. €sc(-x)=

csc(x)=

2tan(x)/1 - tan”2(x)=
2co0s™2(x) - 1=
€0s"2 +sin"2=

cot(x) csc’2
cos/sin -CSC(X)
cos(u+v) COS2(X)
1/csc(x)
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